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Assertion and reason is true and reason is correct explanation of
assertion

Let A and B be two sets having m and n elements respectively
no of subsets of A =2M

no of subsets of B = 2"

According to question

2M =56 +2"

2M-2" =56

2" (2™ - 1) =56

2" (2 —-1)=23(28-1)

2" =23

N(B)=n(B-A)+n(ANB)

=3X + X

= 4x

but n (A) = n (B) (Given)

14 + 2x = 4x

x=7
(i)n(AuB)=n(A-B)+n(B-A)+n(ANB)
=14+ x+3x+X

=14+5x=14+5%7=49




We have to prove, A-(A-B)=ANB

So take L.H.S
A-(A-B)=A-(ANB){-A-B=ANBY}
=AN(ANBY

=AN[AuUB)] {-(ANB)=AUB}
=AN(AUB) {-(B) =B}

=(ANA)U (ANB) {- Distributive property of set:  ANB)U(ANC)=
AN (BuC)}

=0uU(ANB) {+ANA =0}
=ANB=R.H.S

Hence Proved
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yeA-(Bu ()
yeA-(Bu ()
ye Aandye (Bu ()
yeAand(y¢ Bandy ¢ C)
(ve Aandy¢ B)and(ye Aandy ¢ C)
y€ (A-B)andye (4-0)
ye (A-B)n(A-C)
A-BuQc(A-B)n(Ad-0) (if)
From (i) and (ii), '
A-(BUCO)=(A-B)n(A-0)
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n(M=a+b+-d+e=15
mFPl=b+c+e+f=12
n(Cl=d+etf+g=11
n{MnP)=b+e=9
n(M nC)=d+e=5
n(PmCl=e+f=4

=3




sob=6.d=21.f=1

vi)g+at+tc=11
viljatb+c+td+tet+tf+g+=23

Wili) 25 -(a+b+c+d+e+f+g)=25-23=2




